AQUABRASS

Product Description

URO6NM

= l

GL/2" M

Foro sanitario: MIN @30 mm L
\ Basin hole  MAX @40 mm Basinhole  MAX 340 mm

Foro sanitario: MIN 835 mm
Basin hole  MAX @40 mm

Foro sanitado: MIN @27 mm

Foro sanitario: MIN @27 mm
Basin hole  MAX @40 mm

Urban 5-piece deckmount tub filler with diverter

and handshower

. solid brass construction

. crystal clear water flow

. hidden microphone handshower with 5" double-helix
hose

. deckmount lever diverter

« 1/2" connection

height: 7"
overall projection: 711¢"

flow rate: (tub filler) 6 gom  (handshower) 2.5 gpm

FINISHES
Standard
Polished chrome (pc)

Custom
15 custom finishes available
(ask your local Aquabrass authorized dealer for details)

Aquabrass cannot be held responsible for any technical or typographical errors or omissions contained within this document and reserves the right to make changes without prior notice.

Last revision: 07/11/2016

aquabrass.com



AQUABRASS

Elenco parti

ELEM| CODICE NUMERO DI MAGAZZINO

o
o}

1 |AQ0014849 |Marble cover @68 H35 left

AQ0009151 |Grubscrew M6x8 flat point

AQ0002160 |Inox screw M4x10

AC0012459 |Handle @51 H15.5

AC0012453 |Rod @8 M6 H63

AS0012451 |Insert fo fixed @30.3 H11 M24x1

AQ0001450 |OR 47.37x1.78 NBR 70 SH

o|~N|o|o|slwind

AS0012454 |Base for handle @52.4 H13

9 |AQ0013370 |Grubscrew M6x5 cone point

10 |AC0012458 |Base @57 H6.8 @39

11 |AQ0011028 |Flat gasket @55 @47 H2

12 |AQ0002135 |Ceramic headwork 90° left

13 |AQ0008013 |Rubber packing 45x35x2

14 |AS0010697 |Washer @48 x @26.5 x3

15 |AS0010698 |Ring nut W26x19

16 |AQ0010358 |Inox screw M5x16

17 |AS0002250 |Washbasin upright W26x19

18 |AQ0010360 |Rubber packing 1/2" H2 with filter

19 |AQ0009553 |Inox hose G1/2" F G3/4" F L600

20 |AC0012534 |Welded spout @28 H16 L154

21 |AQ0004640 |OR 18.77x1.78 NBR 70 SH

22 |AC0012535 |Insert for aerator @26 M24x1 M22x1 H26

23 |AQ0010587 |Perlator cahce M24x1 antisplash

24 |AQ0014928 |Marble spout's cover @68 H35 @28.3

25 |AS0012495 |Inserto fissaggio @37.3 H9.5 G3/4"

26 |AQ0001450 |OR 47.37x1.78 NBR 70 SH

27 |AS0012452 |Base @52 H28

28 |AQ0013370 |Grubscrew M6x5 cone point

29 |AC0012458 |Base @57 H6.8 @39

30 |AQ0011028 |Flat gasket @55 @47 H2

31 |AQ0001400 |OR 20.35x1.78 NBR 70 SH

32 |AS0012496 |Reduction @30 M24x1 G3/8" H12

33 |AQ0009818 |OR 14x1.78 NBR 70 SH

34 |AC0010971 |Threaded fixing stem G3/4" G3/8" H76 with
seat valve

alala|a|a|a]aaNaalalala2 NN (NN [N B[S B w]o|N|w|w s

35 |AQO0009151 |Grubscrew M6x8 flat point

36 |AQ0009716 |Rubber packing 38x30x2

37 |AQ0000880 |Inox steel flange 18/8 @50x29

38 |AC0009900 |Flange 3/4" H.13

39 |AQ0012033 |Inox hose G3/4" F G3/4" F L600

40 |AQ0014852 |Marble cover @68 H35 right

41 |AQ0003930 |Ceramic headwork 90° right

42 |AQ0014930 |Marble diverter's cover @68 H35 180°

43 |AS0012497 |Insert fo fixed @30.3 H8.5 16x19

44 |AQ0001650 |Inox washer 39 x 26,5 x 1

45 |AS0002010 |Clamping nut 26 x 19 H5 CH30

46 |AQ0012031 |Extension for diverter 26X19"

47 |AQ0012030 |Diverter 2 inlet/ 2 outlet

48 |AS0010658 [Ring nut with screwed holes @52 M33x1.5
H6

Slalalalalalalalalslalaln] =

49 |AS0010659 |Brass ring @50x35.5x3

50 |AQ0010274 |Rubber packing @38x33.5x2

51 |AS0012498 |Handshower support M33x1.5 H82

52 |AS0012452 |Base @52 H28

53 |AS0012499 |Insert for fixed @37.3 H9.5 M33x1.5

54 |AS0012500 |Hexagonal nut 38 M28x1.5 H4

55 |AQ0014928 |Marble spout's cover @68 H35 @28.3

56 |AC0012501 |Insert @32 M28x1.5 H15

57 |AQ0009555 |Inox hose G3/8" G G1/2" cone

58 |AC0010699 |Connection piece for hose

59 |AQ0004630 |OR 17.16x1.78 NBR 70 SH

60 |AQ0013936 |ABS gasket support

61 |AQ0013935 |ABS gasket support

62 |AQO0013934 |Gasket

63 |AC0011852 |Hand shower body @32 H62

64 |AS0010528 |Connection piece for hand shower

65 |AQ0014934 |Hexagonal nut M3 DIN 934

66 |AC0010529 |Upper plug hand shower

67 |AC0012509 |Knob for hand shower @30 H25

alalalalalalalalnalalalalalalala]a]=

" el

:

o
i
1P

.
&

Aquabrass cannot be held responsible for any technical or typographical errors or omissions contained within this document and reserves the right to make changes without prior notice.

Last revision: 07/11/2016

aquabrass.com



